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S| Model Diagram

Simulation means(sd) | time=100
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S| Model Diagram

Simulation means(sd) | time=100
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S| Model Diagram

Simulation means(sd) | time=25

Susceptible
n=500(0)

)

si.flow=0

Infected
n=1(0)




Number

500

400

300

200

100

=~ s.num

= i.num
s.num.g2

—— i.num.g2

20

40

Time

60

80

100




¢l

oT

lagquinN

100

80

60

40

20

Time



S0

0

€0

lagquinN

_
¢o0

T0

00

100

80

60

40

20

Time



Number

500

400

300

200

100

= s.num
= i.num
s.num.g2

i.num.g2

10

20

Time

30

40

50




0¢

lagquinN

QT

0T

50

40

30

20

10

Time



_
AN

_
0T0

_
800

_
900

lagquinN

_
700

_
c00

_
000

50

40

30

20

10

Time



Number

200 300 400 500 600

100

Time

— Ss.num
—— i.num
/ e —
[ [ [ [ |
20 40 60 80 100




0€

q'¢

_
0¢

lagquinN

100

80

60

40

20

Time



_
[AN0

_
0oT0

_
800

_
900

lagquinN

_
¥0°0

_
c00

_
000

100

80

60

40

20

Time



S| Model Diagram

Simulation means(sd) | time=100

a.flow=6
Y
si.flow=0
Susceptible > Infected
n=538(0) n=3(0)
ds.flow=8 di.flow=0
V V
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S| Model Diagram

Simulation means(sd) | time=50

a.flow=7.5
W
si.flow=0
Susceptible > Infected
n=487(52.326) n=5(4.243)
ds.flow=3.5 di.flow=0.5
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SIR Model Diagram

Simulation means(sd) | time=100
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SIR Model Diagram

Simulation means(sd) | time=50
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SIR Model Diagram

Simulation means(sd) | time=10
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SIR Model Diagram

Simulation means(sd) | time=100

a.flow=3
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si.flow=8 ir.flow=5
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SIR Model Diagram

Simulation means(sd) | time=50

a.flow=4.5
W
si.flow=5.5 ir.flow=3
Susceptible > Infected ——>  Recovered
n=20.5(6.364) n=274.5(21.92) n=207.5(13.435)
ds.flow=0 di.flow=2 dr.flow=1.5




Number

500

400

300

200

100

s.num
i.num
r.num
s.num.g2
i.num.g2
r.num.g2

20

40

Time

60

80

100




00ty

00€

_
00¢

lagquinN

00T

100

80

60

40

20

Time



ov

0€

0¢

lagquinN

oT

100

80

60

40

20

Time



Number
300 400 500

200

100

s.num
i.num
r.num
s.num.g2
i.num.g2
r.num.g2

10 20 30 40 50

Time



00ty

00€

_
00¢

lagquinN

00T

50

40

30

20

10

Time



ov

0€

_
0¢

lagquinN

0T

50

40

30

20

10

Time



Number

500

400

300

200

100

— s.num
— l.num

20

40

Time

60

80

100




oy

0€

0¢

lagquinN

oT

100

80

60

40

20

Time



ST

0T

lagquinN

G0

00

100

80

60

40

20

Time



SIS Model Diagram

Simulation means(sd) | time=100

Susceptible
n=461(0)

si.flow=4
—>
<

is.flow=1

Infected
n=40(0)




Number

500

400

300

200

100

— s.num
— l.num

10

20

Time

30

40

50




0]

laquinN

50

40

30

20

10

Time



80

90

¥'0

laquinN

A0

00

50

40

30

20

10

Time



SIS Model Diagram

Simulation means(sd) | time=50
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SIS Model Diagram

Simulation means(sd) | time=10
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